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BRA & EEEEES X5
952 FEERR 3 GLIER-# %) Ri5

[10#8)] (  +3.7 m)

1[ 6]
2[ 7]
3[ 5]
4[ 3]
5[0 2]
6[ 8]

[ 1]

[ 4]

(1248] (

10 6]
2[ 1]
3[ 7]
4[ 5]
5[ 8]
[ 2]
[ 3]
[ 4]

U 1 (ERERR-HiA) 10. 77
F= 6 4 (EFEBK-1iA) 10. 81
K2 (KHEK-F#)10.91
P 2 (LAYERA- A 10. 94
£ 4 (LAYERR- 13D 10. 99
B 2 (UAFBEK-i3) 11. 04
1209% K fd &k 3 GLIEKR-HF) Ri5
8285 A W2 BREK-wE) RiH
+0.8 m)
N1 (BRFEK 5 10. 94
A4 CERER-F3#)11.18
& 7 (UNITE-%E)11.44
Ik 2 GI#ECK-HrE)11.45
Ve 5L (RikEREd - #EB) 11. 48
& 5k 4 [ERK KR Ri5
K EE 4 (UBFFA LAY &35
B3 G K - R ) RI5

112 1%
115 H
1281 f
1455 Hh
14458 XN
146412 H

14148 =
1585 1
341 Ff
1045 1
99 & A
202'F 7K
14730 j
641 H



(13#8] (. +2.7 m) (14%8] (  +2.4 m)

103 172k &5 3 FEK-HE)10.81 105] 109k JII  #U1 (EE#RA-HiA) 10. 96
2[ 2] 48FE ©»  # (A 1.R-%%)11.06 2[ 8] 2054t B ¢ iE 3 (E#E k- T1ER)10.98
3[ 4] 93&F )1l BB A1 G KR-#E)11.18 3[ 2] 166/ % B ¥ (BEKTC-%%)11.07
40 7] 2040 AF AR 4 (ERK-FEE) 11,21 40 71 92/ ¥ HL1 Gl K-HE) 11,11
5[ 8] 2094F &= #f A& 3 (HRKA- /IR 11.26 5[ 6] 191/ FE e th 3 (EFFRKA-HTE)11.13
[ 1] 2153 7K & (REKAC-HE) RiH 6[ 4] 40H B H (A I.R-%%)11.20
[ 5] 1T1R & R WEK- LK) RIS 70 1] 1734 M W GFEKR-HE)11.40
[ 6] 96/n JII 4 CGHER KR RiG [ 3] 11 E R ¥ #8 1 (ERFhR TE) Ri5
[15%#8]) ( +2.1 m) [164H]) ( +1.3 m)
10 8] 503 (L &Es4 BEER-HE.14 1[0 3] 2144& i ik K (KEKAC-5%)11.59
20 1] 192 %8 H: K3 (EERA-HE)11.19 2[ 6] 28/)N Akl th 2 (REFRK-HE)11.62
3[ 3] 2064x T & K3 (HRA-EHE)11.22 3[ 8] 207— F HER2 (HRAK-HAK 11.85
41 4] 150 AF  Fn & 3 (LAERA-LE) 11. 36 40 5] 90/ A M1 GRFEK-IiEE) 11. 85
5[ 2] 86F I B &2 GRvuk-#Hid)11.47 5[0 2] 2T H JHJE 4 (HEFRA-5%)12.03
[ 5] 1514& W 16 K 2 (UAUERA-(AL) Ri5 6[ 1] 1724 H {16 K (STAC-#x)13.65
[ 6] 91§ & 401 Gl K-MIL) Ri5 [ 4] TTHCE TR 23 GRVE K- 318 Ri5
[ 7] 1873% & — ' G@ERKHE)RSE [ 7] 442 £ # (A L.R-HE)RIH
[1748) ¢ +1.3 m) [18#2] (  +2.7 m)
10 5] 1644 ;& FnE GEKTC-HE)11.29 1[0 6] 178K H1 # 3} GHEK-#%£)10.94
20 4] 750 AR R K3 K- mAE) 11,34 2[ 8] 185 Ji = OEERHE).10
3[ 3] 1A Emn (LETER&E)11.66 3[ 3] 49k FHE (A T.RHE)11.31
41 6] 414& + i (A 1.R-#E)11.67 AL 7] 163 % j% o O WEKRTC#%%E)11.33
50 7] 118\ K B4 GIIER-BE)11.69 505] 161/h 0 RHE GERTC-#%)11.38
6[ 8] 140Kk (i — =k 1 (EFFRA-HEEH11.71 6[ 2] 39Fm <~ B (ERELACHTE)12.69
[ 1] 324 # B (SWAC-HR)RIH [ 4] 225/0AfR &% (BAELEZ5E) RiG

[ 2] 46#p [ HEH (A 1.R-HE)RG

[1948] ( +0.8 m)

10 5] 168# 3 HEF (WEKTC-#%%)11.46

2[ 6] 42/ B4 (A T.R-HE)11.59

3[ 8] 20 ¢ #th (J777-HmO11.71

AL 2] 164 H F GUAREH-HR)12. 34

5[ 1] 8t & # (LRMEG-5E)14.34
[ 3] 2167 HL B B (KREKAC-HE) RiH
[ 4] 123 = H ARfE 3 (KAUK - §li) Ri5
[ 7] 43[R K (A 1.R-BE)RIG

iR B (348)
(48] ( +0.4 m) (28] ( +0.6 m)

1[0 8] 125g7 M 5~ 3 CRAK-#78)10. 62 10 3] 657 % #E K4 ORFEKR-%E)10.57
2[ 5] M3 L% FIE 1 (EAFRA-ik)10. 62 20 1] 124k B [E 5k 3 ORK-H4#)10. 61
30 3] 95+ MW £ A3 UvaK-#£55)10.70 3[ 5] 208 RAfr &2 (HRK-HiH)10. 64
41 6] 15 A4k K22 (F-474 bE10.77 41 6] 857 gk} 22 OliK-%®%)10.67
5[ 4] 5S4 W L& GRFEKR-HiA)10.80 50 7] 68/1k SEEE 4 (kvE K- #riE) 10. 75
60 7] 7211t HEOKER 3 (K- FiE) 10. 84 60 2] 1318 BEKER 3 CRHOK- =#)10.78
701 28/ & B4 (CfER%5$)10.89 T0 4] N4 A fF 7 4 (ERERLA- &%) 10. 81
8[ 2] 112R& % 1 1 (ERERA-1i4) 10. 93 80 8] 67m il #F = 4 (kvE K- #h)10.85



(3#8]
10 5]
2[ 3]
3[ 4]
4[ 6]
5[ 7]
6[ 1]
10 2]
8[ 8]

( +0.7 m)
16076 &  fhi 4 Ok #18) 1945
18857 | F 2 3 (M- doi) 19. 47

B1KALR Wk 2 (VK- =) 10. 53
134 B A8 3 ORHUR - H#£15) 10. 61
/R — . (BEEXAC5%)10. 64
11075 = A& Ik 1 (ERERK-Hi%) 10. 65
SIERAJ ' GFER-KE)10.65
S3E JF H ik GRFER-F/IDIT. 41

“
L

=14
N

v

op

1 1607 5
2 188 L
3

4 Ok Bk - BrE) 19,45 +0.7
B3 (WA k- depE) 1% A7 0.7

81 /KA k= 2 Opl v K - = IR 10. 53 +0. 7

~

65 i 1%
124X H
134 5 1
1257 H
113 I B

0 N o O

FE K 4 OGP K- B ) 10.57 +0.6
£ # 3 ORHEK-H#)10.61 +0.6
T A8t 3 ORROK - B /5) 10.61 +0. 7
B3 CREUK - #718) 10. 62 +0. 4
FIEE 1 (BRSO -14) 10. 62 +0. 4

EREF 100m FZEAHE2 14 LL—X)

(148]
11 6]
2[ 7]
3[ 5]
4[ 8]
5[ 2]
6[ 1]
70 4]
[ 3]

[3%8]
1[ 5]
2[ 4]
3[ 6]
47 7]
5[ 2]
6 1]
[ 3]
[ 8]
[548]
10 4]
2[ 5]
3[ 1]
41 3]
5[ 8]
6[ 2]
[ 6]
[ 7]
[7#8]
10 4]
2[ 1]
3[ 2]
41 6]
5[ 3]
6[ 7]
[ 5]
[ 8]

( +2.4 m)

AA%G wh W HE 2 FotERE-5E) 11,23
4405% B HE B 3 GIEHER %%)11.58
384 2 UlodeE-%E)11.65
27615 & & #F 2 (RERE-HE)11.67
4567 H Ak BR 1 (R Rs- ) 11. 81
4656 & 52 (s E)11.87
360 H B Thi:l (FEkxE-HE)11.88
43677 1 &I 3 (BILE B E) RiF

( 2.3 m)

J10F it £ & 2 (JndE- &%) 11,11

4678 M1 KE&E-HE) 11,17
301/hs% KRR 3 (agmm & £) 11. 27

4177 12
SNH K

HE B 3 (Bleam-%E)11.60
B 2 (JIlndeE-5E)11.73
325N i IR B 2 (iaem e ) 11.75
329V M fk & 3 (LEMAE HE) R

328 H Tl K 3 (LEME tHE) Ri5

( +1.8 m)

3712%k Tt B2 OhndtmE-wE)11.59
468 I T AT 1 (s - E) 1177
324/ F Pk X1 GRiep s E) 11,91
M7 & &2 (N -5%)11.93
4857 WH A K2 (BRUHEE 5%)12.45
3NFEWN EHE 1 (LEMA-HE)12.80
b4y sE 1 (BRI E) RIF

263 EHIE B 1 (MiEf A -5 Ri5

( -0.1 m)

44655 - FE I 2 (MEERE-HE)11.79
448 Hi+fH AR 1 FkERE 5%)11.94
464 h E A2 (K- HE)11.99

2497% W 42 (RERENAHE)12.08
2801E I #hJT 1 CRERR &%) 12.09

33ARKS SERER 1 (LEM&-5E)12. 29
B g g2 (REm L) Ri5
2617 & W ik 2 (BIEHG & E) Rig

(248] (
1[ 5]
2[ 6]
3[ 4]
4[ 8]
5[ 3]
6[ 2]
[ 1]
[ 7]

[4#H] (
1[ 5]
2[ 3]
3[ 8]
47 1]
5[ 6]
6 2]
70 7]
8[ 4]

[6%8] (
1[ 5]
2[ 4]
3[ 6]
4[ 2]
5[0 1]
6[ 7]
70 3]
[ 8]

[8#8] (
1[ 3]
2[ 7]
3[ 5]
4[ 4]
5[ 6]
6 8]
70 1]
8[ 2]

322111 M
463 {r] jH
3203
47350 2
454387 7T
3361F A
4455 ) F5 KBER 2 (IotERE-5%)12.18
26412 = K

+2.5 m)

0Lk A2 (LEHA ) 11.34
29875 IR T ik 3 (HiAERE -5 E)11.53
10 = H "L
25410 & # & 2 ()l - ® ) 11.70
SNTE e B 1 (s -#$)11.70
327= 1% K 3 (fsE
262 1 1%
2652 )11 AAKER 2 HEEE HE) RIS
+1.9 m)

44312 ik
40544 Fk
472FH A
306 L1 H
35044 Vyvey 3 (REE B E)11.50
240 5 15
392N ¥ MR K1 (Ilodb@E-HE) 11,63
462717 )1

(525 B £) 11,57

mehiE) 11,83
Pk 1 gl 5 Ri5

P 2 (otERE-55) 1. 24
su K2 (RIRas-5E)11.30
i B 1 (R - 5 E) 11,30
/a2 (Mm-S E) 11, 41

1 CEMmERE -5 E)11.60

2 N2 (R -5E)11.66

+2.3 m)

BE 1 (fRiEmim - E)11.57
k2 R HE) 11,71
B OME 2 (FReeram -5 £) 11. 83
il 1 (REEE -5 E)11.93
& Sk 1 (FRfRE-E) 11,97
B HE 1 (LEME-5E)12.08

&1 @ENR &) Ri5

+1.4 m)

362411 BEKEA 1 (BExm-HE)11.34
A0
305 (1
378t i
4388,
459 ik A
42657 H
457/ )1

f 2 (B)IRAE-%E)11.68
#E V-2 (Busemm -5 E) 11. 69
sh & 2 (llnds-%%)11.78
R 1 (W -5 £) 11, 87
i1 (R 5 E) 11,97
&= &2 (iR -5 1) 12. 08
Al 1 FrRPReE-5%) 12. 39



[94H]
1[ 4]
2[ 5]
3[ 6]
4[ 7]
5[ 2]
[ 3]
[ 8]

(11#8] (

1[ 5]
2[ 6]
3[ 7]
41 4]
5[ 2]
6 1]
70 8]
8[ 3]

(13#8] (

10 8]
2[ 4]
3[ 3]
41 7]
5[ 6]
6[ 5]
70 2]

[1548] (

1[ 5]
2[ 6]
3[ 3]
41 8]
50 7]
[ 1]
[ 2]
[ 4]

( +1.2

500 H1 X
376 K A
33175
4357 ¥

m)
K1 RE—m-3wE)11.92
e 2 JlndE-5%%)12.18
g1 (LEmME-BE)12. 28
fis B3 (Bl -£5%)12.59

4237TJ50 iz ek 2 (I e - 5 ) 12. 73

266 7% 1)
3234 1

+1.0

for 2 (IE R ) Ri5
16 B 2 (EERR - 5) Ri5

m)

396 FH ) [E—RR 1 (llmtﬁ #1)11.83

4207% H
501 £ 111
41587 1
31977 ik
2563 i
46911 1
474N H

4995 R
3164n A
3331 B
439 5. 1|
451 %% H
2871%
3997k

3931k ik
401k 1
4525 1%
391N H
47017 B
429 7% i
433 155 Hi
3954k 2

iR B (31H)

[1#8] (
10 3]
2[ 8]
3[ 4]
47 1]
5[ 6]
6[ 2]
70 5]
8[ 7]

-0.2
4177 10
462t )1
3929 f
305 1L
2407 18
41044 ¥
384 55
276 = L

+0. 1

+1.9

W— 1 (N
% e 1 (B
A 2 (38) llf%ﬁ %%)12.28
A1 (RiEmE -5 E)12.35
J B 1 (e -5 E) 12,44
B SR (e 12.47
R 1 (R H£) 12,53
m)
KBl (Rr—rm-5%)12.38
B 22 1 (MRagmm - %) 12. 67
K1 (LEME-HE)12.69
1 (Wil -4 1) 12. 69
K E 1 (tERE %£)13. 06
2 (\WThE-H%E)13.08
Z& R 1 Ol es-#%%)13. 82

m A ) 12. 04
m i) 12, 21

#1(IndkE-5E)12. 38

w1 JlndtE-5%%)12. 43
ool 1 (tERE %) 12. 54
B A (o 5E)12. 75
1% &1 (_t%m tﬂzﬂs 16
HE) Ri5
MHA 3 (ﬁ)llﬁ%-iﬁ)k%
#E1 (nE - E) Rig

m)

BE WE 3 (BIRAR-#E)11.66
Z N2 (K@ -BE)11.67
W1 (JIlndeE -5 %)11.75
1T 2 (BReErEE -5 ) 11.76

1 Catlpam-HE) 11,77
fE 2 (BIRARSHE)11.T77

&2 (lndm-5E)11.78
52 (KERE-5E)11.84

(10481 (

1[ 6]
2[ 3]
3[ 8]
41 4]
5[ 2]
6[ 5]
70 7]
8[ 1]

(1248] (

1[ 5]
2[ 8]
3[ 4]
4[ 1]
5[ 3]
6[ 7]

[ 2]

[ 6]

381 % &
390N H
402111 A
255 T Ji&
365/~

36312 A i 2 (RiEsH:

+0.7

m)
w2 JllnfE-#%%)11. 89
L OIndE-5E)11.94
A1 (lndeE-%%)12.04
fLEE 2 (ff)Ils - B £) 12,15
fmE 2 GRkgaE-5E)12.19
#£)12.30

ANtEr AR BE 1 e -8 E)12. 47

3735 H

428/)v
466 |11 H
42278 I
458 Jii
250 A [if]
361 1% Jit
31875 =

(1478] . +2.

1[ 6]
2[ 5]
3[ 8]
4[ 4]
50 7]
[ 2]
[ 3]

[1648] (

1[0 1]
2[ 7]
3[ 6]
41 8]
5[ 3]
6[ 5]

[ 2]

[ 4]

[248]
1[ 5]
2[ 4]
3[ 6]
47 1]
50 7]
6 8]
70 3]
[ 2]

380 fiifr J5i

450 5 B RER 1 (ROtE R

3985 H
424°K
308 14 ik
356 % 1%
2670 Ifg

4311 K
RTINS
321/ &
A0 1
335
24187 5t
4304% F}
425 K

( +1.1
330 T ik
306 1L
298 7 IR
440 5% H
32210 A

10 /< H wLL
3504 vaN Vyvty 3 (IRES-

372% It

+1.5
239K )1

+0. 8

e — 2 (lndem &%) 12. 62

m)
B2 Calings % %) 12.07
1 W)IE-5E)12. 29
B A1 & rEE-5E) 12,33
=2 ()IfEE-5E)12.52
A1 PR 5E) 12,52
fh B 1 (REREREHE)12.92
B b1 BERE-ET) RiF
iE 3 GRiEmm - E) Ri5
m)
= oR2 JIlndE-sE) 12,21
#%)12.37
EARL1 JIpdE-5E)12.65
B2 (I EE -5 £)13.10
B EE 2 (Bagmm - £)13. 41
L (RES -BE) RS
KA1 (@R E) Ri5
m)
w1 I 5E) 12,39
k1 (8 ||ﬁ\/n\ﬁ 5E)12.42
YR 1 (BReErE s B E) 12,77
P B 1 sl 5%)12. 82
BA1 (EEME-#5%)13.45
21 Callnbs - % £) 14. 60
HOE L W)IHE- ) RI5
32 2 (RIS -5 £ RI5

m)
T E 2 (J:L%@m ) 11,33
H 4*2 (fRee m #E)11.39
Jt Ik 3 (FReEmm -3 £) 11,55
FE W 3 (LAGTER-5%E) 11,57

BE 1 (fReEmm-# %) 11. 62
(58 m -5 E)11.64
HE)11.76
B2 Jlnde-%%E) Ri5



[348]
1[ 6]
2[ 3]
3[ 5]
40 7]
5[ 4]
6[ 2]
70 8]
8[ 1]

( +0.9 m)

370 i & &2 (ndtE-sE)11.
4677 WAL EEE-HE
4434 P IS 2 (ROLEIRE-%E) 11.
301/N % fEAHER 3 (BiftrE -5 E) 1.
44475 wh R HE 2 (ROREIE-SE)11.
AT2fE A 1 (& BT 1.

405¢h Bk 5w K2 (Rllem-HE)11.
3624111 BRKM 1 (FEKR-HE) 11

19
20
21
24
32
35
39
42

v

=
D

&
op

O ~J O Ol b~ Wi —

467 %
443 1% i

44445 it
330 T jiE
4728 A
4054 Ak

310 7 £ &2 (Jlndbm-#HE)11.19 +0.
WA 1 (G A - B E) 11,20 +0.
g 2 FotEBES-%£)11.21 +0.
301/N % (R ACER 3 (FRAERE A - 7 £) 11. 24 +0.
B ik 2 (FtEBE -5 E£) 11,32 +0.
HE2 (LREME-BE)11.33 +1.
W1 (ECES A - BF ) 11,35 +0.
H5E)11.39 +0.

st K2 (RIKES

FFEHEBEF 100m FE(ASEEI A LL—X)

QLD
1[ 3]
2[ 5]
3[ 7]
4[ 4]
5[ 2]
6[ 6]
70 8]

[3%8]
1[ 5]
2[ 3]
3[ 4]
47 6]
50 7]
6[ 8]
70 1]
8[ 2]

[548]
10 8]
2[ 6]
3[ 4]
41 7]
5[ 3]
6[ 1]
7[ 5]
8[ 2]

[7#8]
1[ 5]
2[ 3]
3[ 8]
4[ 2]
5[ 6]
6[ 4]
1 7]
[ 1]

(  +2.0
1604 &
168k 1+
86 & 1%

m)

g8 3 (REATH-55) 11,
Hx B2 3 GEMERT5E) 12,
fifF K 3 (EImEd -5 E)12.
88H 1 K E 3 (FHIfT-HE)12.
1828 H 25 /1 2 (LBAAT-HE)12.
20948 A FREA 3 (BAZAT-HE)12.
2028 R B E 2 BASRREE)12.

( +1.3 m)

SKZEE B 3 RAEED-HE)11.
2775 B A Hk 3 (RAIEED-HE)11.
93 K 3 GEEh-smE)11.

9P 2 R WA 2 (RAERET-HE)12.

MG B E B3 (HImP-HE)12.

99F & Hh 2 (HNIET-HE)12.

65 & K& 3 (LEKAH-HE)12.

137N 32 (FRIEET-5E)12.
( +0.5 m)

1675 B 0 2 2 (RABET-HE)12.
203 | [ B2 ERZRA-HE)12.
189/ & fiz 2 (LRRAH -5E)12.
166/ B9 7 32 1 (EEATH-5E)12.
16578 7L 5 2 (LERER-5E)12.
17307 B AN GEEEERY-5£)13.

944 M FEF K3 (HImf-HE)13.
178 = ¥  # + 2 GEREEf-5£)13.
( +1.8 m)

1490 8 B 2 (FRIEET- %) 12.

255 O ERE 1 (RBIERES-5HE)12.
1020 /& weth 2 (HmEh-5E)12.
17068 JIl % th 3 GEEEEY-5%%)13.

63758 &+ FE I 3 (LEKAH-HE)13.
1495 J % 2 (LRATH-%%)13.
21501 K B A 2 (LRFEF-5E)13.

64 [if] T

62
28
28
32
42
62
63

46
58
97
20
38
45
63
66

63
81
83
91
92
13
20
35

48
12
15
07
17
19
81

¥R 3 (LERBT5E) Ri5

[248]
1[ 5]
2[ 3]
3[ 4]
4 6]
5[ 8]
6 1]
70 2]
[ 7]
[4%8]
1[ 6]
2[ 5]
3[ 3]
41 4]
50 1]
6 2]
7( 8]
8[ 7]

[648]
1[ 5]
2[ 3]
3[ 8]
4 6]
5[ 4]
6[ 7]
[ 2]

[8#H]
1[ 3]
2[ 4]
3[ 5]
4[ 2]
5[ 6]
6[ 7]
70 8]
[ 1]

(  +2.8
2% &
18122 i
235 Ff
161148 S
167 K
75 H
90 i 24
98 H
( +1.7 m)
TAR L £ #h 3 (FABET-5E)11.75
AH R RUKRER 3 (RAEED-5%)11. 88
MKk FE K2 (RAERT-5E)12. 27
875 v A B3 (H)Ifh-#%E)12. 40
148F% B B M 2 (LEFEHT-%%)12.46
185 K fF (2 (LERAT-5E)12.47
5K K Bt 3F2 (RREET-5%)12.48
207 I EEME3 (RRZAT-5E)12.49
( +1.6 m)
18H A FEB 1 (RAEET 55)12.32
13407 % ok th 2 (RREFT-5%E)12.88
M2k &4 ¥ 1 (E)IET-H%)13.17
10077 N @k Bk 2 ()l #5£)13. 29
1524F [ B2 (FEATH-5%)13. 31
24 = g URJE 1 (RREET5E)13. 44
2192 Iy fdt =F 1 (FREP -5 E) Ri5

m)
K3 (AR5 11. 21
B &2 (LEAAT-5%)12.10

£ 2 (fTRAmH+-5E)12.17
M3 (BEATH-5%)12. 24
Tk ik 3 GEmERY-5%)12.32
O 2 (RREET-5E)12. 44
Bz =} 3 (F)IEf-5E)12. 81
IR K 3 (FIfH-5E) Ri5

( 0.8 m)

20588 - M N2 (ERZT-5E)12. 81
95K SE AR 3 (IfEm-5E)12. 83
1267 v/ [ HE 1 (RRFAH-5%)12. 83
101 M B2 GIEd-5%)12.93
24772 1 (EEP-HE)13.13
1835 H KB 2 (RERAT -5%)13. 29
2333 kR SR 1 (THART-5%%)13. 74
1631 E7H 7246 1 (LRATH &%) Ri5

© © = © © © © ©



(9481
1[ 4]
2[ 3]
3[ 5]
4[ 2]
5[ 6]
6[ 7]

(1148] (

10 3]
2[ 2]
3[ 6]
41 4]
5[ 8]
6[ 5]
10 7]

(13481 (

10 4]
2[ 3]
3[ 5]
41 1]
5[ 6]
60 7]
7 8]
8[ 2]

[1548] (

1[ 5]
2[ 6]
3[ 3]
41 4]
50 7]
6[ 2]
70 8]
8[ 1]

(17481 (

10 5]
2[ 3]
3[ 4]
4 7]
5[ 8]
6[ 6]
70 1]

[ 2]

( +0. 2

m)

268 % il K 1 (RAIEET-55)13.05
1975 H B E 1 (ERAT-HE)13.
1364 A %1 (RERHT-5E)13.
1095 W KB 1 (HIRT-5E)13.
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